
LEFT HAND SIDE VIEW
TOP VIEW

COPYRIGHT ARMORTEK
ALL RIGHTS RESERVED

ARMORTEK

01. HULL ASSEMBLY



CL0103

M3 NUT

CL0113M3 NUT

M3x10 CAP

M6x35 CSK

CL0101

CL0111
M6 NUT

CL0112

M4x8 CSK
CL0110

M3x10 CSK
M5x12 CSK

CL0103
M3 NUT

CL0103

CL0103

CL0132

L
X 6

X 7 THROUGH CL0112 INTO CLO111

LEAVE LOOSE AT THIS STAGE

NOTE 
ORIENTATION 
OF HOLES

COPYRIGHT ARMORTEK
ALL RIGHTS RESERVED

ARMORTEK

02. BASIC HULL 1



CL0107 M3x12 CSK

CL0103
M3 NUT

CL0103
M3 NUT

CL1108

M3x10 CSK

CL0105 M3x12 CSK CL0103

CL0103
CL0132

CL0103
CL0102

M6x35 CSK

M3x10 CSK

CL0113

M5x12 CSK

M3x10 CSK

CL0109

CL0110 L

CONSTRUCTION OF THE 2 HULL SIDES IS IDENTICAL

M3x12 CSK

COPYRIGHT ARMORTEK
ALL RIGHTS RESERVED

ARMORTEK

03. BASIC HULL 2



B

CL0101

CL0116

3 OFF M3X16 CAP

M3x16 CSK
CL0119

M3 NUT

CL0104

M3 NUT

M3x16 CAP
THROUGH CL0104
(NUT ON OUTSIDE 
OF CLO119)

1

THROUGH CL0101
(NUT ON OUTSIDE OF
 CLO116)

1 OFF M3X16 CSK

C

CL0118

CL0101

CL0122

CL0120

CL0123

CP0180

2

REPEAT ON OTHER SIDE

DETAIL VIEWS

E

3

L

COPYRIGHT ARMORTEK
ALL RIGHTS RESERVED

ARMORTEK

04. IDLER MOUNT



6002-2RS BEARING

6002-2RS BEARING
M3x8 CAP

M3x10 CAP

M3x8 CAP

CL0114

CL0115

CL0101

LOCTITE ON SHAFT IN THIS AREA ONLY

L

L

NOTE  THE CAP HEAD FASTENERS USED
TO RETAIN THE DRIVE CASE ARE VERY HIGH
TENSILE THEY MUST NOT BE REPLACED
WITH COMMERCIAL HEX HEAD SCREWS

RIGHT HAND SIDE SHOWN. REPEAT FOR LEFT HAND

COPYRIGHT ARMORTEK
ALL RIGHTS RESERVED

ARMORTEK

05. DRIVE CASE



LEFT HAND SIDE VIEW
TOP VIEW

COPYRIGHT ARMORTEK
ALL RIGHTS RESERVED

ARMORTEK

06. RUNNING GEAR ASSEMBLY



M4x8 CSK

CL0219
CL0218

CL0217

CL0218

CL0126

CL0125

CL0124

6000-2RS BEARING

CP0142

M4x8 CSK
M3x16 CAP

M3 NUT

2MM RIVET L

L

L

L

LOCTITE BUT ALLOW 
SHAFT TO TURN FREELY. 
DO NOT OVERTIGHTEN

GREASE TO ALLOW CLO126 
TO ROTATE FREELY IN CL0125

TRIM LENGTH TO FIT

THROUGH CL0101
BUILD 6 IDENTICAL ASSEMBLIES

L

COPYRIGHT ARMORTEK
ALL RIGHTS RESERVED

ARMORTEK

07. RETURN ROLLER ASSEMBLY


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet1
	Drawing View1
	Drawing View2

	Sheet1
	Drawing View2
	Drawing View3

	Sheet1
	Drawing View1
	Detail View B (1 : 2)
	Drawing View3
	Detail View C (1 : 2)
	Drawing View5
	Drawing View6
	Detail View E (1 : 2)

	Sheet1
	Drawing View1
	Drawing View2

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet1
	Drawing View1


